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Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)
0.1 MCQs (1 mark each)
The derivative.at y = 1 for the function S(y) = ;{-1- is
(i)
1 . 1 3
(a) — (b) 5 OB )3
The height s of a rocket at t sec after its launching is given by s(t) = —t® + 2t? + 3.
(ii) The instantaneous velocity of the rocket at t = 2 sec is
(a) -4 (b)4 (¢) 0 (d) none of these
lim Vx =?
Gii) |70
(a) 0 (b) 1 (¢) undefined (d) none of these
What is the magnitude of the complex number —1 — iv/3
(iv)
(a) 2 (b) -2 (c) 0 (d) none of these
Differentiation of a function implies e
")
(a) existence of limit  (b) integrality (c) continuity (d)all a,band c
) Domain of V4 — x2 is
(a) [x] < -2 (b)x <0 (¢) |x] £2 (d) none of these
x
lim =7?
(vii) x=0tanx
(a) 0 (b)1 (¢)2 (d)
For what value of x, the inequality —12(x — 3) > —5x + 6 is satisfied
(viii)
(a)2 (b) 1 (c) 0 (d) all of these
21
J tan 2x dx =7
(ix) 0
(a) 0 (b) 1 (c) -1 (d) none of these
Every integrable function is
) : ; ; (c) piece-wise
(a) differentiable (b) continuous . (d) none of these
continuous
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Q.2 | SHORT QUESTIONS l
() |Find %:- if ¥2 = x* + sin xy. | (4) ‘
I . ) . | |
| | |
i 4x2 — 36 :f X% 3 i
(i) Discuss the continuity of the function f(x) = x—3 : atx=0. (4) |
| | 24 if x=3 I
| 5 tanx-sinx
(iii) Evaluate L1_12 ~a (4)
Y (S
(iv) . Solve: |5x — 8| = 10 and draw the solution on real line. (4)
I 1
(v) Evaluate ;ﬁ?#-z;fdx' (4)
S I - SR | SRS
LONG QUESTIONS |
Q.3 | Evaluate [ x%Vx¥ + 11 dx. (6)
Q.4 | Find the Maclaurin series of f(x) = In(1 + x) with its remainder term. (6)
Q.5 | Evaluate fim &= . (6)
¥—+0 ¥ |
Q.6 | Determine the centre, foci and verlices of the hyperbola y? —x? — 10y + 6x =0 (6)
Q.7 | For what values of a, m and b does the function I
3 x=0
fx)={—-x*+3x+a 0<x<1 (6)
mx + b, 1<xx2
Satisfy the hypothesis of the mean value theorem on the interval [0,2]. [
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